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Question No. 1
The strength of an oxo acid (E - O - H), where E is the central atom, depends upon the-
A)Atomic size of E B)Electronegativity of E
C)Ability of E to share an electron pair with O D)Atomic size and electronegativity of E

3ty 37 (E - O - H) & a7, gt E $OF WAy &, B R Mo aar 72

A)E & TRA] HTHR B)E & facgd FomcHdr
C)O & WY Th Folaglel J7H ST oA &I E & D)E & WAL IR AR gelFcrrarieiads
&THAT

Answer Key : B

Question No. 2
HsPO2 and H4P207 are, respectively-
A)Monobasic and tetrabasic acids B)Monobasic and dibasic acids
C)Dibasic and tribasic acids D)Tribasic and tetrabasic acids

HAA: H3PO, 3R HsP,07 & g7
A)AERE® 3R cgef@e e B)AERA® 3R sEaf@e 31
C)zrzafds 3R grsafds e D)grsafle® 3R egrafae 3rFar
Answer Key : A

Question No. 3
The acidic nature of oxoacids of halogens-

A)Increases as size decreases B)Decreases as electronegativity decreases
C)Increases as electronegativity decreases D)None of the options

goitotel & JHieral 3rFer dr 3T gepfa-

A)3THR T I F&dT gl B)S-3I¥ faega HUMcHehar uedl §, ged S gl

C)Sta-51& faegd RUMcHdT Hecll &, ol Sich &1 D)fdshed & & &I =7gf

Answer Key : B

Question No. 4
Acidity of oxoacids increases with-
A)Decrease in electronegativity B)Increase in the oxidation number
C)Both decrease in electronegativity and increase in D)The order HCIO < HBrO < HIO
the oxidation number

JiTeraT 3Fe Y IFAAT fhach AT Tgdr 87
A)ZaeTafefadr & gea B) 3{fereiiehioT H&dT # g
C)zaiagidifeiadr & "erm 3R 3fdiewor §&ar & D)HCIO < HBrO < HIO & #ife

Top
Answer Key : C
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Question No. 5
Which of the following gases is usually liberated when an acid reacts with a metal?
A)Chlorine B)Oxygen
C)Hydrogen gas D)Ammonia gas

o9 F$ e Rl arg & @y HFAfRT wwar § O Fefaf@a & & Sla-dr da smrak ) gea o 82
A)FeeT B) 3{Terirstet
C)grssiale 3T D)3 3w

Answer Key : C

Question No. 6
What will be the X in the following chemical equation?

MgO + 2HCI —- X + H20
A)2MgCl B)Mg,Cl
C)MgCl, D)MgCI

farafai@a Taafas e leor 7 X w1 gen?

MgO + 2HCI — X + H,0

A)2MgCl B)Mg,Cl
C)MgCl; D)MgClI
Answer Key : C

Question No. 7
HCIO4, HNO3 and HCI are all very strong acids in an aqueous solution. In a glacial acetic acid medium, their
acid strength is such that-
A)HCI > HCIO4 > HNO3 B)HNO3; > HCIO4 > HCI
C)HCIO4 > HCI > HNO3 D)HNO3; > HCI > HCIO,4

HCIO4, HNogmHCIWamﬁmﬁagamm%l TRl URAfesd 3Fa AIH H, 396 3Fd

e 0T @i § -
A)HCI > HCIO4 > HNO; B)HNO3 > HCIO4 > HCI
C)HCIO4 > HCI > HNO; D)HNO3 > HCI > HCIO,4

Answer Key : C

Question No. 8
Dehydrohalogenation of an alkyl halide is an example of a/an-

A)Nucleophilic substitution reaction B)Elimination reaction
C)Rearrangement reaction D)Both nucleophilic substitution and elimination
reactions

3PS &ollSS F SIBBSealSTIRIUT [FHFT Th 3GTEI0T &7

A Foralithicren FideTdsT 3Tfshar B)3eeeret tfAATehar
C)gercdaear sifafsmar D)gfeFeraithioes gfceardst 3R 3eree JifAfHan aat

Answer Key : B

Question No. 9
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The mechanism of the Sy1 reaction involves the formation of a intermediate.
A)Carbocation B)Free radical

C)Carbanion D)Either free radical or carbanion
Sn1 IRAFAT & a7 & Agadt &1 AT nfAer gar gl

INEaCIERC) B)HF el

C)aTe foTTeT D)1 o HF FeIh AT Hretordel

Answer Key : A

Question No. 10
Which of the following is the CORRECT statement about carbene?
A)lt is obtained by the photolysis of diazomethane or B)It can be inserted into the alkene-forming
ketene cycloalkane
C)lt can exist in the singlet or triplet state D)AIl of the options

FElT & IR H Aefaf@a & 9 Fla ar a@r Faa g2

A)TE SIAAAT a1 AT &F U IUUSA GIART B)FH Hohldd dellel dlel ATSFNodhal H ITel ST Fehel
gred fRar Srar B gl

C)dE Tahel AT T 3rawar & #Algg & el B D)fasredl & & el

Answer Key : D

Question No. 11
An "ate" complex is the product of the-
A)Lewis acid—Lewis base reaction B)Lewis acid-Lewis acid reaction
C)Lewis base-Lewis base reaction D)Bronsted-Lowry acid—Bronsted-Lowry acid reaction

TS "t AiFEs fRaeT T 3 87
A)TISH 3F-clsH &R 3Tafshar B)[SH 3Fel-ofSH 31FcT JTHThaT
C)T$H &TR-o[$H &R 3ifarfshar D)sies-olRY 3FcT-siees-aly 31 ufafshar

Answer Key : A

Question No. 12
Which of the following is an organic reaction characterized by the replacement of a functional group in a
molecule or ion by another functional group?
A)Addition reaction B)Elimination reaction

C)Substitution reaction D)Rearrangement reaction

fafaf@a & & sl & v Fefas 3Afrar § S v 3] A1 I3 F vF FRTEF THg A gAY FEHS

T @RI e wia $r faRivar g2
AT 3ifafsar B) 3 eret ifAATshar
C)ufaeurgar 3rfafshar D)qifd=ara 3rfdrfohar

Answer Key : C

Question No. 13
A divalent carbon with a pair of electrons (i.e., only six electrons in the outer orbit of carbon) is termed as-
A)Carbenes B)Nitrenes
C)Carbocation D)Carbanion
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Folagldll i Th SIS (37T, FIelT HI TN FET F Fad OF Foagled) F YT T gaudiors FleleT I FIT Fgl
ST &7

A)FTeTeT B)asd=d

C)FIEUATIT D)FIE 0TI

Answer Key : A

uestion No. 14

Walden inversion takes place in the reaction.

A)SN1 B)E4
C)Ez D)S\2
aTese SshevT R 7 gar 8

A)S\ 1 B)E1
C)Ez D)Sn2

Answer Key : D

Question No. 15
Which of the following statements about carbocations is TRUE?
A)Carbocations are neutral species B)Carbocations must have a lone pair of electrons
C)Carbocations have negatively charged carbon D)Carbocations are electron-deficient species

FEUARA & aR #F Ffaf@d F ¥ Sl a1 FueT T &2

A)FTIATIT el Tl & g B)#EtATIT #H, Solaclell T U 3ihell SiST T
EURY

C)PEIATTA &, Fleel HONcHS & & AT &1 g1 D)RIETUAIT, Seiaclel Sl HAT arell FolTiadl ¢l

Answer Key : D

Question No. 16
Which of the following statements is TRUE about cis-trans isomerism?
A)Cis-isomer is more polar than the trans-isomer B)Cis-isomer has a larger boiling point than the trans-
isomer
C)Trans-isomer has a higher melting point than the D)AIl of the options

cis-isomer

AT # § P9 T FIT cis-<F IBAARNH F T #F TEr 872
A)Cis-3TSHIF, IH-3TSAF & dolell # 3H0h ¢ B)Cis-3SHF I FIUeAleh, A-3MSHA HT Jofoll

g gl HF g B
C)EMH-3TSHIF &I Iefelich, Cis-3MSEFA H Jelell # D)fahedt & & @afr
31T g &

Answer Key : D

Question No. 17
The separation of a racemic mixture into its two optically active components is called-
A)Erythro diastereomers B)Stereogenic centre
C)Enantiomeric resolution D)Meso compounds

AfAF BT A 3TF & IHIRAF T § GfHT gehl H AT T FAT Fgaldm g?
A) TR SRIERHT B)EEIRI=AF &g
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C)ua=er3aARe Rafegaret Dyaar difdies

Answer Key : C

Question No. 18

Lactic acid has chiral centre(s).
A)Two B)One
C)Four D)Three

dfFcF e § _ Rra e

A)ar B)T®
C)yaR D)cier
Answer Key : B

Question No. 19
Give an example of a compound with an asymmetric carbon atom.
A)Tartaric acid only B)Amyl alcohol only
C)Allenes only D)Both tartaric acid and amyl alcohol

U ARG Flda WA arer ANk FT TF 3501 QT
A)dhad e 3T B)Fddl S 3Modhigial
C)Fael Velleqw D)ercRer 315 3R 38 dodhigiel alal

Answer Key : D

uestion No. 20

The 2,4-hexadiene has only geometrical isomer(s).
A)One B)Three
C)Four D)Two
2,438 H Faer AN 3mEEERE) g §
A)TH B) e
C)arR D)ar

Answer Key : B

Question No. 21

Chiral centres have around them.

A)Only single bonds B)Only double bonds

C)Either single bonds or double bonds D)Neither single bonds nor double bonds
e Faf & art 3R gid gl

A)Fdd Thd AT B)dhdel gfd A&

C)ar dl Uehdl 3M6Y AT &id Y D) & Uehel 3T 3R o & gfd 3ee

Answer Key : A

Question No. 22
Racemization is a combination of-
A)Threo and erythro diastereomers B)Chiral and achiral molecules
C)Active and inactive compounds D)Retention and inversion

IRAFOT FgHT vh AT 82
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A)fgar 3R TR sREw B)faer 3 sifaer 317
C)afey 3R AfSry A D)gfaeRor AR gfdelis

Answer Key : D

Question No. 23
Which of the following compounds exhibits geometrical isomerism?
A)Fumaric acid B)2-dichloroethylene
C)Maleic acid D)AIl of the options

Arfaf@d # & ol a1 3P sfadT gAeTaar yeRia Far 872
A)FIARS 31l B)2-3r8FaiRITTAelleT
C)afergs tfs D)@t & & @afr

Answer Key : D

Question No. 24
Which of the following statements is TRUE regarding meso compounds?
A)Meso compounds have no plane of symmetry B)Meso compounds are optically inactive
inside the molecules
C)AIll meso compounds are chiral compounds D)Meso compounds are non-superimposable on their
mirror images

adar Gt & deu 7 Aeafaf@a d @ Sl ar s T@ 82
A)AET AR & U3 & X FATATT & e Tl B)FAT Alfdw gl &7 § AT g &
el BIem B
C)msh Aar s Rer diffw g1 & D)AET s 39l edur faal ww IAR-reIRIRa @
gl

Answer Key : B

Question No. 25
What is the IUPAC name of Acetoacetic ester?
A)Ethyl 3-oxobutanoate B)N-(4- hydroxyphenyl) acetamide
C)2-Propanone D)Trichloromethane

TfAeivfafesd X &1 IUPAC A1 1 87

A)FUTSd 3-3ffFFIgeraTe B)N-(4-gTsgierahiaer) vfierrss
C)2-W9aiteT (Propanone) D)gIeFaRIA AT

Answer Key : A

Question No. 26
Acetoacetic ester on reaction with urea yields-
A)Diethyl malonate B)4-methyl uracil
C)Ethyl acetoacetate D)Cyanoacetic ester

TRATRARE TRX % IRAT F A AABHA A W FAT 3T g &2
A)SISUTSS Hdllelc B)4-fAurger A
C)zursel THIeTiiee D)asATTAfeH TR

Answer Key : B

Question No. 27
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The formula of acetoacetic ester is-

A)C7H1204 B)C7H1003
C)CeH1003 D)CeH1204
TfAATRAfeS TR FT g 4T §?

A)C7H1204 B)C7H1003
C)CeH1003 D)CeH1204

Answer Key : C

Question No. 28

The most common synthesis method of acetoacetic ester is by the of ethyl acetate.

A)Claisen condensation B)Perkin reaction
C)Friedel-Crafts reaction D)Clemmensen reduction

tfaeefafed X &1 gad 3H E@eaver (Y, ol vdee & ganrT g Bl
A)Ferid TeeleT B)ufeheT 3rfAToRaT
C)hser-shroed JfAfRar D)FelA-del 3TTTeT

Answer Key : A

Question No. 29
Acetoacetic ester on boiling with the dilute aqueous or alcoholic potassium hydroxide solution gives-
A)Ketone B)Acid
C)Amide D)Aldehyde

TRAITRRE TR, e Sl AT Hedipliod GICRITH FEsauss [Aade & A1y 36 W T & 82
A)FrerT B)31FeT
C)3HTEsS D)uicsgiss

Answer Key : A

Question No. 30
Arrange the following hydrogen halides in the order of their decreasing reactivity with propene.
A)HCI > HBr > HI B)HBr > HI > HCI
C)HI > HBr > HCI D)HCI > HI > HBr

fArff@d e gemsst A Wide & @y 3 gedr JfAfRarhedr & wa 7 sgafeyd
A)HCI > HBr > HI B)HBr > HI > HCI

C)HI > HBr > HCI D)HCI > HI > HBr

Answer Key : C

Question No. 31
Which of the following is NOT a functional group classification of organic compounds?
A)Ethers B)lsocyanide
C)Esters D)Amides

FafaF AP FT FRTHS FHg TN HeAfar@d H § HliA-ar 6 §?
A)sR B)3MEAIATIATSS
C)ureH D)3r#ATSsH

Answer Key : B
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Question No. 32
Which of the following is the general formula of the Diazonium salt?
A)R-No* X B)R-N2,"HSO™,
C)R-XI D)R-N*

SIGAIAAH Q0T &1 WA §F Aeafaf@a # & @la-ar §2

A)R-Ny* X B)R-N,*HSO,
C)R-XI D)R-N*
Answer Key : A

uestion No. 33

Aromatisation of by passing it over the catalyst consisting of oxides of chromium and aluminium at
773 K gives toluene.

A)n-octane B)n-heptane

C)n-ethane D)n-propane

773 K W HIfAge 3R vegafags & sifeuss @ Id 30RF & 3R § 6 § T TQATERIFIOT
Aegs & &

A)n-3ffeesT B)n-ggceT

C)n-34sT D)n-SrdeT

Answer Key : B

Question No. 34
What is the decreasing order of the reactivity of halogens with alkanes?
A)F2>Clo >Bra > I B)l> > Bry, > Clo > Fo
C)lo > F2 > Cly > Brp D)Cl, > F3 > 1, >Br;

3ehel F WY gelloter @ AFATFARNSAT 1 gedr fife w2 §?

A)F, > Cl, > Bry > I, B)l, > Br, > Cl, > F,
C)l, > F, > Clp, > Brp D)Cl, > F; > I, > Br,
Answer Key : A

Question No. 35
When 2-methylbutane reacts with bromine in the presence of sunlight, the major product is-
A)1-bromo-3-methylbutane B)2-bromo-3-methylbutane
C)2-bromo-2-methylbutane D)1-bromo-2-methylbutane

99 2-Auseegea F & e i sufeafa F sefe & o sffear war § @ ww 3o

[EC I
A) 1-sTAT-3-fReTgersges B)2-sTAI-3-fAUTScoleg e
C)2-s1AT-2-FAUTS oTsg e D)1-siTAY-2- TS eregest

Answer Key : C

Question No. 36
Allene is an example of-
A)Conjugated diene B)Cumulated diene
C)lsolated diene D)AIl of the options
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AT T TFH 3GTET ¢
A)EIFTAT STeeT B)&wr_ly sréeT
C)qus S8t D)dshedl H & &Y

Answer Key : B

Question No. 37
1, 3-butadiene is an example of-

A)Cumulated diene B)Conjugated diene
C)lsolated diene D)None of the options
1, 3-sgedia & T 3ETEOT gl

A)ETET 318 B)Eg e S8t
C)qush srSal D) dshedl & & IS gl

Answer Key : B

Question No. 38
Which of the following reactions produces methane?

A)The addition of a hydroxyl group to an alkyne B)Friedel-Crafts acylation
C)Reduction of an ester, acid chloride or nitrile D)Reduction of methyl iodide by using a zinc-copper
couple

gt ¥ Fla-dr 3A(Fr, AT e wh 82

A)UewhIs H gIsgliadel HHg & AT B)fhsd-shrocy uiierereT
C)urex, Ufls FRISS AT ASCISH T JIATA D)fSieh-ehlIX JaTel T 3UANT Fleh fRATS 3MANSIST HI
3T

Answer Key : D

Question No. 39
Water can be added across a triple bond in the presence of a/an-
A)Acidic medium B)Alkaline medium
C)Neutral medium D)Sulfuric acid and HgSO4

#r 3ufPafa & @ feuer dies & 9t fAemr ST @ 3

A) 3T ATETH B)&TRIT ATeTs
C)3crdie ATEH DyFergfia tfds 3R HgSO,

Answer Key : D

Question No. 40
The relative order of the stability of dienes is-

A)Cumulated > isolated > conjugated B)lsolated > cumulated > conjugated
C)Conjugated > isolated > cumulated D)Conjugated > cumulated > isolated
3SaAT I FEUAT T ANET HH FAT &7

A)FER > g > YA B)g¥® > &Rl > @gfTad
C)agiTad > q¥s > Fadd D)yegfead > "ol > qush

Answer Key : C

Question No. 41
The total numbers of ¢ and 1 bonds present in ethyne are-
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A)4 and 3, respectively B)3 and 2, respectively
C)2 and 3, respectively D)1 and 2, respectively
vus & #gg o IR w §iE B T dEw &l

A)gwae: 4 3R 3 B)saer: 3 3R 2
C)sa: 2 3R 3 Dysaer: 1 3R 2

Answer Key : B

Question No. 42
Which reaction is involved in the preparation of ethene from chloroethane?
A)a-elimination B)B-elimination
C)Reduction D)None of the options

FARTAT ¥ TR AR FA H Hla-Adr 3Rfrar afAer g 82
A)a-Terast B)B-faeiuer
C)31TageT D)faseul & & FS g

Answer Key : B

Question No. 43
The addition of HBr to an alkene in the presence of peroxide is an example of-

A)Electrophilic addition reactions B)Nucleophilic addition reactions

C)Free-radical addition reactions D)The formation of carbocation as an intermediate
RiFaEs fr U & vF 3rehsT & HBr &1 Hheld FT TF 3607 ¢l

A)seoiFcifthieles Taholel JTATHRIATT B)=afFerailthicieh Heholol 3TTRAThAT3M

C)shI-Xf3hel Teholad TTRTHATT D)ALITdl & ®F H HIEUATT & fAATOT

Answer Key : C

Question No. 44
The reaction of toluene with chlorine in the presence of ferric chloride gives predominantly-

A)Benzol chloride B)m-chlorotoluene

C)Benzyl chloride D)o-and p-chlorotoluene

R FaNTEs 6 sufRAfa F Fole & w degea & dfHfE, g w9 @ & Bl
A)dSlTeT FARIES B) m-sFelRIcTegge

C)Ssd FaRISS D)o-3iR p-FelRIctegget

Answer Key : D

Question No. 45
In spectroscopy, Electron Spin Resonance (ESR) is also known as-
A)Electron Paramagnetic Resonance (EPR) only B)Electron Magnetic Resonance (EMR) only
C)Electron Paramagnetic Resonance (EPR) or D)None of the options
Electron Magnetic Resonance (EMR)

TFRdT 7, soiaeld 9T W0=F (ESR) & s T ST 1
A)Fad godgid WRHATATeH Werd (EPR) B)dhdel Soacldd HIates Yeil=d (EMR)

C)zaideld R¥Tafes T (EPR) a1 sl D)fshedl & & &g g
#Husifes Weia (EMR)
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Answer Key : C

Question No. 46
Which of the following statements about the electromagnetic spectrum is NOT correct?
A)lnfrared radiations have larger wavelength than B)The frequency of microwaves is less than that of
cosmic rays ultra-violet rays
C)X-rays have a larger wave number than D)The velocity of X-rays is more than that of

microwaves microwaves

fegadea Tagsd & aR & 17 & Pla-AT FYT TP 61 67
AghRs fafaeol i aeded, FiftAs ol @1 B)AtsHded & rgfcd, Wbl ol & oo & w7

ol A 3R gl gl gl Bl
C)X-Y #, HISshideH &I Jelell H 3T cRaT HEIT glcl D)X-Y T 91, ATGshIded &I Jolell H 3HT&H il Bl
gl

Answer Key : D

Question No. 47
UV-visible spectroscopy is-

A)Atomic spectroscopy B)Absorption spectroscopy
C)Emission spectroscopy D)Scattering spectroscopy
UV-RfSesa Weerepd gl

A)IRATI] FAFEIERIY B)3a2MVUT TAFCIERIUT
C)3cHsie FdFIE=hIdT D)srhiofer FereERIdY

Answer Key : B

Question No. 48
The frequency involved in NMR spectroscopy lies in the-

A)Visible range B)UV range
C)Radio-frequency range D)None of the options
NMR Eagiendr 7 enfAe mgfea #H gichr Bl

A)TIHATT IS B)UV &
CRfSar-shrerddr & D)fasedt & & &g =gl

Answer Key : C

Question No. 49
The radiation source used in ultraviolet spectroscopy is the-

A)Tungsten filament B)Hydrogen discharge lamp
C)Gunn diode D)Coil of wire

R FFIERT F SEAT 8l arerr fAfRoT &1 9 gl
A)&IRes Theldie B)gTssIeel f3&ameT ofq
C)3IsT 31 D)dR &I Hsel

Answer Key : B

Question No. 50
The statement, "It is impossible to determine simultaneously, the exact position and exact momentum (or
velocity) of an electron," is the content of-
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A)Heisenberg's uncertainty principle B)Charles' law
C)Dalton's law D)Avogadro's law

FT, "Fr seaeie o Tée Rufa 3R ade T A Ay ARG wer 3T @ar & e § gEfea

&
A)gTsatsTeeT Fr ifAReaar Rgia B)aTed &1 foaar
C)aTece &1 foas D)3rarTgr &1 o

Answer Key : A

Question No. 51
The wave function for an electron in an atom is called the-
A)Atomic number B)Atomic orbital
C)Thomson equation D)Gibbs number

fore o] F v geeeleT & fAT oRET Wl HY AT FHr ST §7?
A)IRATI] J&IT B)WRATY] el
C)UIFAHT FHHIOT D)ferew wEar

Answer Key : B

Question No. 52
Which of the following can be a valid 'principal quantum number'?
A)-2 B)-2.5
C)0 D)1

et 3 @ St w T FaicH HEAT @ T ¥
A)-2 B)-2.5
C)0 D)1
Answer Key : D

Question No. 53
The 'azimuthal (orbital angular momentum) quantum number' identifies the-
A)Shape of the orbital B)Shell
C)Orientation within a subshell D)The number of electrons in an atom

oMY (FelT HONT Faer) FaicH Te&ar e ggareT Fr 87
A)FeTdh T TSR B)¢ter
C)tsh 3udd & R Al D)Ush WA H SolFiall Sl HEdl

Answer Key : A

Question No. 54
For a given value of 'n' (principal quantum number), the value of 'I' (azimuthal quantum number) is-
A)O (zero) only B)0 to 'n-1'
C)ton D)0 and 1 always

"' (FHE FECH §EA) F U AC A F AT, T (I FaicH WEAT) F AT FAT FEm?
A)had 0 (Y3) B)0 & 'n-1'
C)0 & n D)gAarm 0 3R 1

Answer Key : B
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Question No. 55
Among the 14 Bravais lattices, how many types of orthorhombic crystal systems are specified?
A)1 B)4
C)10 D)6

14 SEEH At &, fhde YR HT AvA«nT heed yonfoar Afese gdr &2
A)1 B)4

C)10 D)6

Answer Key : B

Question No. 56
Which of the following is a valid type of the triclinic crystal system among Bravais lattices?
A)Simple (primitive) B)Face-centred
C)Base-centred D)AIl of the options

sy dfedl # T & & P9 v AU yeR f eeFafae e yomer 872
A)ETe (3TTTEH) B)®elsh-Ficad
C)3TYR &hiegd D)fasedl & & Tl

Answer Key : A

Question No. 57
If a=b=c and a=B=y=90°, then the Bravais crystal system is-
A)Monoclinic B)Orthorhombic
C)Tetragonal D)Cubic

a=b=c 3R a=p=y=90° g W, FaERH fhEca JYumel FT gHr?
A)TehaTdTe] (HlsicFelfoleh) B)fawsreiaret (3iuRifEas)
C)efaa#cidnet (Egrmed) D)g=

Answer Key : D

Question No. 58
If the relationship between 'a', 'b' and 'c' is as in a hexagonal Bravais crystal system, but the one between 'd’,
'8, and 'y' is not, then the Bravais crystal system is-
A)Tetragonal B)Triclinic
C)Monoclinic D)Orthorhombic

g 'a', b’ AR ‘¢’ & € Her gAeled A fheed gomelr S 8, dfde o, AR Yy F S aE 7, @

srarsyd fohece JoTelr T 872
A)eTaEaeiaTeT (EgmieTe) B)Rreraer (grsfFeiaien)
C)UheldTeT (HiAIfFelleeh) D)fawererarer (3iTaRifFEas)

Answer Key : A

Question No. 59
The coordination number of which crystal lattice is 87
A)FCC B)HCP
C)BCC D)AIl of the options

R fheed At fr gH—ag HEar 8 82
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A)FCC B)HCP
C)BCC D)fasedr 7 & @efr

Answer Key : C

Question No. 60
What is the minimum value of the 'Limiting radius ratio' for 'coordination number' equal to 8?
A)0.122 B)0.732
C)0.232 D)0.455

8 % TR 'ITHeHUIS HEr & v WfAd Bedm Ieura 1 ~Yeda A F41 872
A)0.122 B)0.732

C)0.232 D)0.455

Answer Key : B

Question No. 61
The radius ratio rule will NOT be valid if the-
A)Accurate radius is known B)lons behave as hard spheres
C)Positive and negative ions touch each other D)Bonding is 50% atomic

T gl W AT 3egareT @gar der 71t g

A)EES TS AT gl W B) 37+ &l &R el & g TIdeR e
C)uellcA® 3R FHUMcHAS 3T & Teh GEX & T D)IAEUT H 50% WA0TH g W
e

Answer Key : D

Question No. 62
Which law of thermodynamics states that as the temperature of a system approaches absolute zero, the
entropy of the system approaches a constant minimum value (zero)?
A)Zeroth B)First
C)Second D)Third

FSARTART 1 Pl AN 7TH7 Farar § 6 S-or Bl feed & aaas Qo g & Sl 9gaar ¢, Reea
i g T R ~AaH A (D) F HAG Tgach §?

A)gar B)gus
C)efada D)gdrxr

C

Answer Key : D

Question No. 63
The statement, 'Energy cannot be created or destroyed, but can be transferred from one form to another', is

related to the law of thermodynamics.
A)Third B)Second
C)First D)Zeroth

FYA, ‘Far w1 & AT A ST wwar § o & av¢ FAT S FHAr B, AfFT 30 0F T { @y T H
TUAIGRT FRaT ST Tl &, SSARIAR & [ge 3 dsfea g1

Ayt B)g&

C)dger D)ear

Answer Key : C
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Question No. 64
The amount of energy required to break one mole of a particular type of bond between the atoms in the
gaseous state is called-

A)Atomic energy B)Bond energy

C)Nuclear energy D)Drop energy

A raedr F WAET & G oF ARV yER & U F disd F AU aedE ot fr A w _ Fwr
ST B

A)IRATT] ST B)3TEET Sl

C)uRAT] Fait D)31q Far

Answer Key : B

Question No. 65
The Hess law states that, 'The ___ change in a chemical or physical process is the same whether the
process is carried out in one step or in several steps.’
A)Volume B)Pressure
C)Enthalpy D)Density

&9 9 wgar § &, wufae ar sifds ufear & IRads AT {ar §, I 9ihar T TROT F Y

ST AT HF IO J|'
A) 3T B)eera
C)drdrr emidr D)gsica

Answer Key : C

Question No. 66
The equilibrium equation (for a chemical reaction) is also called the-
A)Law of mass action B)Law of chemistry
C)Law of equations D)Law of corresponding states

AR & FHoT (R Taafas FfRfRT & o) @ 3 am o fe=r s #-
A)geg Jearelr fsham & s B)t@rad faae &1 faas
C)a#ault & faga D)&ITd IEATHT &1 o TH

Answer Key : A

Question No. 67
In a chemical equilibrium, when the rates of the reactions become equal, the concentrations of the
reactants and the products remain constant.

A)Physical B)Forward and reverse

C)Chemical D)Physical and chemical

fFdr Taefas aee #, 59 AR $r g7 s g A §, dr APfERE 3R et f
Higar Faa =i W g

INEUGRED B)37aRTaT 3R qeTemsT

Cyrarafas D)#ifas 3R TEafas

Answer Key : B

uestion No. 68
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The entropy of the universe in a reversible process, whereas it in an irreversible
(spontaneous) process.

A)Decreases, remains constant B)Increases, decreases

C)iIncreases, remains constant D)Remains constant, increases

et yfdadt ufthar & sEsis fr wegrdr g, Safh IARTTAT (HIA-3T gt arell) Ufhar 7 IJg
_ ®

Aygedr, R Ear B)dedr, gedr

C)dedr, f&R w@ar D) T, Fol

Answer Key : D

uestion No. 69
The molecularity of a reaction is a/an-

A)Theoretical property B)Experimental value
C)Fractional number D)Zero

T fAfRar $r 3nfPaswar § -

A)#eifae aqor B)wrfae Ao
C)feellcas T&am D)=

Answer Key : A

Question No. 70

The order of the rate law (of a reaction) is the of the exponents of its concentration terms.
A)Product B)Square of the sum

C)Sum D)Square root of the product

(el fATRAT F) & AIT F7T FH ITHT Figdr Al & =cin H gl

A)F0TeThel B)TfRY T &t

C)r D)[UTeTthel T G

Answer Key : C

Question No. 71
In which of the following do reactants in gaseous state diffuse and get adsorbed on the surface of the solid
catalyst, as a first step?
A)Absorption Theory of Homogeneous Catalysis B)Adsorption Theory of Heterogeneous Catalysis
C)Neutralized Theory D)Rapid theory

faf@a & O fFad i 3 7 3feRs bad § 3R Jga WoT F T FH 3 3RS fr dg W

RN & s 87
A) TS 3SEROT & JaMvor g B)faws 3cOROT &I 3faeivor Rgid
C)frsremdr fagia D)ga fgia

Answer Key : B

Question No. 72
The theory which advances the concept of the catalyst reacting with the reactant(s) to form an intermediate
before subsequent reactions in which the catalyst is released is termed as-
A)Extra spontaneous formation theory B)Neutralized theory
C)Intermediate compound formation theory D)Reactant catalyst theory
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3¢ Rgid 3 3RS $ JTUROT FT & TG &, IHFRFPT F AT AATFAT FF a1 i AATFAET F gg
T ALYGl 1T § oa#d 30R® Rellst giar 8, 38 __ &gl ST gl

A)3faRed Tgst o Rgid B) forswerdY Rrgia

C)aeyadl I AAT Rgia D)31ffR® 3oR* RAgid

Answer Key : C

Question No. 73
The intermediate compound formed in the reaction between SO, and O, in the presence of the NO (nitric
oxide) catalyst is-
A)NO; B)SNO;
C)SN30 D)O4

NO (Frsfes 3ifearss) 30R® 6 3ufeafad & SO, 3R 0, & &g 3MFRAT 7 oo arer Feuadt FifFfE Fia-dr

&7
A)NO, B)SNO3
C)SN30 D)O4

Answer Key : A

Question No. 74
of the heterogeneous catalyst (as compared to the reactants) is generally required/sufficient to
produce almost unlimited reactions.

A)An equal amount by weight B)An exceedingly higher quantity

C)Twice the amount by weight D)A small quantity

RvARN 30R® F (HfAFRFT Fr Jorerr H) FEmEr IMAT HBEFAT 30w For F AT 37 ak
W 3HTaRIF/IICT g g

Ayasi & feae & FAT AET B)fgrad 3f8s Amr

C)astel & fgard & el & D)U& BIET AMET

Answer Key : D

Question No. 75

A enhances the efficiency of a catalyst, though it itself has almost no catalytic activity.

A)Positive catalyst B)Negative catalyst

C)Catalytic promotor D)Catalytic poison

COES R 3ORE T SRIAT F FIAT &, ETelith SHH NUA-3HTT oPIET A 3E afafaf™r =& g
gl

A)IATcHS 3R B)MUTlcA® 39

C)3c& Jadsh D)3 e

Answer Key : C

Question No. 76
When the products formed during a chemical reaction act as a catalyst, it is generally called-
A)Autocatalysis B)Reactant catalysis
C)Semi-catalysis D)Hemicatalysis

S R Tafae AP & e T9 a1 3UIE 3ORE & T A FF A §, O U HH R |
gl ST B
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A)EId: 30T B)3iffieRe 3coR0T
C)318-3c9RoT D)gfAdetafaa

Answer Key : A

Question No. 77
How do non-aqueous solvents affect reaction rates?
A)They generally slow down reaction rates B)They have no effect on reaction rates

C)They generally increase reaction rates D)It depends on the specific reaction and solvent used

RS e, FAFFAT Hr T A FA goRT Fa &2

A)T A AR 9T FATRAT fr T @ AT R ea &1 B)3oTar ATATHAT g7 W HIS gHT 7T Is4T B

C)d 3 dll W fAfRar i &7 A Ford § D)ygg fafrse sf@fekar 3N vgea Fors w @k
T g

Answer Key : D

Question No. 78
Which of the following is an example of a nonpolar solvent?
A)Water B)Ethanol
C)Acetone D)Hexane

fArfaf@d & ¥ =1 & IRy Femas 1 3emweIor 87
A)STeT B)sdsirer
s D)¥eRT

Answer Key : D

Question No. 79
Which of the following non-aqueous solvents is known to dissolve liquid SO,?
A)Acetone B)Methanol
C)Dimethyl sulfoxide (DMSO) D)Hexane

Aafaf@a & ¥ Fla-ar R-ITeT Reas R SO, A " F AT F1ar Jrar 872
A)TdrerT B) A=At
C)ersfRase GewmFass (DMSO) D)

Answer Key : C

Question No. 80

A solvent is always present in a quantity than a solute in a solution.
A)Medium B)Negligible

C)Smaller D)Larger

et faeras & o gavem QT i goer 7 AT 7 AlSg g B
A)ACTH B)sTeTo

Cc)sIc D)as

Answer Key : D

Question No. 81
Which of the following solvents is typically used as a non-aqueous solvent in Grignard reactions?
A)Water B)Acetone
C)Ethanol D)Hexane
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A7 AATFAET F R & @ Fil9 a1 Jas 3Eak W R-FoT JQos § &7 #F 393 Far Jar

Y4
A)sTel B)udiel
C)zqaiter D)l

Answer Key : B

Question No. 82
How does the intensity of light affect the applications of the Stark-Einstein equation?
A)Intensity has no effect on the equation B)The equation only applies at high intensities
C)The equation only applies at low intensities D)The equation applies at any intensity

TRl T Aol TeTh-3MGEENT FHAROT & AN HA yommfad il 82
A)SIaT ST THIFHIOT W FHIs YHTT oTal 95T g B)EHIHIUT dhdel 3T el W ol19] g 8l
C)HHHIUT el A gl I A &Il & D)&E#HTRIoT fohdr 8t e WX oy g Bl

Answer Key : D

Question No. 83
What is the role of the Sy in the Jablonski diagram?

A)lt is the ground state of the molecule B)lt is an excited state of the molecule
C)lt is a metastable state of the molecule D)It is a transition state between different excited
states

STecliEhr 3@ # So Fr AT fAFT gl 82

A)TE 30T T HA IaEAT B B B)Tg 31U #I Scdfoldd raedT gicl gl
C)Tg 3] &I AT /aedr gie g D)gg fafdiest 3cafSid 3faeumEd & <a e dhao
37T el &

Answer Key : A

Question No. 84
What is fluorescence lifetime?
A)The time it takes for a molecule to emit a photon of B)The time it takes for a molecule to undergo
fluorescence after absorbing light intersystem crossing
C)The time it takes for a molecule to undergo a D)The time it takes for a molecule to absorb light
chemical reaction after absorbing light

gfadIfT Shasterrer T §7
A)FhTeT T IaNTT et & ol Teh 30T 1 Gfagcd B)fehell 3107 &l AcRwomell ShifdeT & J[oRel H o9l arell
FT Th Bleld 3cHioTd Hld H oIy arell FHA qHT

C)JehTel &I AT A & dlg Th 3] H D) 0] A Yhrr HTNVT FA H o971 drelm T
TS Jiafshar @ ok § o9 arer JHY

Answer Key : A

Question No. 85
Which of the following is an example of a phosphorescent material?
A)Neon gas B)Sodium chloride
C)Zinc sulphide D)Copper wire

BIEPRAT YT & 3TEI0T Ffai@d 3 & &leT @ 82
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A)failer 3 B)ARTH FaRTSS
C)Si dewiss D)dis & dr

Answer Key : C

Question No. 86
Fluorescence occurs when transition is-

A)Triplet-singlet B)Triplet-triplet
C)Singlet-singlet D)AIl of the options
SIS aa gl § SI9 Hehaor g &l

A)F-ths SNEEREED
C)Usheh-Teheh D)dshedl H & &Y

Answer Key : C

Question No. 87
What does the Stark-Einstein equation relate?
A)The energy of a photon to the frequency of light B)The rate of a chemical reaction to the activation
energy
C)The number of photons absorbed or emitted to the D)The concentration of a reactant to the rate of a
number of molecules undergoing a chemical chemical reaction

reaction
A)YPIETT T Foft & Fehrer T 3mgied B)Imrafas 3fAfRar & ex & afpaor s
CRrargfaeh 3fAfhar & ToRaT arel 303t 1 Fear # D)frdr TR fffhar &1 @7 W fFERE &
aNT A1 3cafora Wil fr Tear Hgdr

Answer Key : C

Question No. 88
What does the ground state of a molecule refer to in the Jablonski diagram?
A)A state of low energy where the electrons are in B)A state of high energy where the electrons are in
their lowest possible energy levels their highest possible energy levels
C)A state of intermediate energy where the electrons D)A state where the electrons are not in any specific
are in the middle of their lowest and highest energy  energy level

levels

STealEh 3RNG # T 0] Y el G AT FT A 82
A)FH FSlT & T HGEAT STg1 Soldelel 30a #FAdH B)3TH Fail &I Teh HAEAT 5@l Solacled el ITacH

gofad 3ol TR W 8 &l genfad 3ol TR W 8§l
C)aeaadl Fofi &I Th 3HGEAT @l Sodeld 39 D)dg 3HaeAT STgl sodele fhal fafdse el TaX & &
fAeTad 3R 3Tadd Fot TR & 9 & g & g &

Answer Key : A

Question No. 89
The Grignard reagent reacts with saturated alkyl halides to form-
A)Alkanes only B)Akenes only
C)Higher alkanes or alkenes D)None of the options
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fees 3ffeeis, e sewsd gomsst & WY F1 F9R F fow HAfRfFar Far 32

A)Fad Hehed B)&hddl 3rchled
C)3TaR 3odhed AT Hodhled D)fdehodl 7 & HIS FET

Answer Key : C

Question No. 90
Which of the following is NOT a true statement?
A)Grignard reagents are non-volatile and colourless B)Grignard reagents are seldom isolated in the free
solids state on account of their explosive nature
C)For synthetic purposes, Grignard reagents are D)Grignard reagents are volatile and colourful liquids
always prepared and used in ether solution

frfaf@a 7 & Fia-ar Fu @dr a8 2
A)fears it A-araelier iR W o gid €1 B)fsars et o 3 fawdles ysfa & #Ror
HF HTEAT A IS & F3 T fhar S g
C)AR® gaeHr & fow, fars ifwsis #F gaer D)Rars ifdesis e 3k e R uerd &
SR e 7 IR 3R 39T fRar S g

Answer Key : D

Question No. 91
Organolithium compounds react with dry ice similar to Grignard reagents to form-

A)Carboxylic acids B)Aldehydes
C)Ketones D)Cyanohydrin
o1t & o, RS sffeds & g, AfafaRae difs g oF & v afafhr =@ §
A)rsiFafos Tfs SNIIES
C)#rctea D)@msieTs gt

Answer Key : A

Question No. 92
Which of the following is NOT a property of organolithium compounds?

A)Usually liquids B)Generally low melting solids
C)Soluble in non-polar solvents D)Insoluble in non-polar solvents
famfaf@a & & sla-ar st dfFw F v qor 78 82

A)ITHAAR W el gard B)31H dR WX &a Rgeet arer a1 uerdy
C)IR-¢dra Aicdeq # gorrelier D)IR-ydr Afeded & sregererelier

Answer Key : D

Question No. 93
Formaldehyde reacts with organolithium compounds to give addition products which on hydrolysis yield-

A)Primary alcohols B)Tertiary butyl alcohol

C)Acetic acid D)Carboxylic acid

piAfesess, RfAIRRTT Al & T 3@fear F 3fARed 3 &ar & o gty W
3o T gl

A)ITafH® 3Teigiel B)dIeh sgeisel Hehigic

C)udifes 3rear D)srefeirsioes e


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

Answer Key : A

Question No. 94
Which of the following is NOT a monosaccharide?

A)Aldose B)Ketose
C)Fructose D)Maltose
frfaf@a # ¥ Fia-ar AEgs A8 ¥

A)TeRTS B)drerst
C)sharerst D)ATeers

]

Answer Key : D

Question No. 95

The is a method used to shorten an aldose chain by one carbon atom.

A)Ruff degradation B)Kiliani—Fischer Synthesis

C)Both Ruff degradation and Kiliani-Fischer D)Neither Ruff degradation nor Kiliani—Fischer
Synthesis Synthesis

v faftr § TSET 3TN U FIeeT WAY] SaRT Teslel 4@l I BIeT & & faw far smar g
ARE BaSersT B) frforamei-fheR E@2eivor
C)Th 38 3R fhfaae-fheR Heaiwor gt D) o 3% B3Iy 3R 7 & Ffoaeh-fhR geevor

Answer Key : A

Question No. 96
Which of the following exhibits mutarotation?
A)Glucose B)Fructose
C)Galactose D)AIl of the options

frfaf@a # & Fia-ar TR weRia &t §7?

A) TS B)wperetst
C)darerst D)fasedr & & Tl

Answer Key : D

Question No. 97
A monosaccharide with six carbon atoms is called-
A)Erythrose B)Sedoheptulose
C)Glyceraldehyde D)Galactose

BF FE WA ATy AARKINTES A FAT FT AT §?
A)TRYE B)@sigTgallst
C)TegElITcsgIss D)dererst

Answer Key : D

Question No. 98
The change in optical rotation of a solution with time to an equilibrium value is called-
A)Mutarotation B)Interconversion
C)Fermentation D)Reduction

TR e & siiftehel qUid & TR & T Aol AT H TR H el STl ¢
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A)FIERIRRAT B) 3{d&ITcRoT
C)feruaet D)319asT
Answer Key : A

Question No. 99

Monosaccharides that form anomers containing membered rings are called pyranose.
A)Two B)Four

C)Six D)Eight

ARaTEs S AFes ReT g WA T §, 3¢ IR Fel ST gl

A)ar B)aR

C)oe D)3s

Answer Key : C

Question No. 100
reacts with phenylhydrazine to form a monophenylosazone.
A)Glucose B)Maltose
C)Fructose D)Mannose

_ ArAdEed 96 & A Sfdessae & arer sf@Afear & gl
A)TereT B)ATeIH

N

C)spereTst D)Healret

S

Answer Key : B

uestion No. 101

Sucrose is a non-reducing sugar and tests with Benedict and Tollens solutions.
A)Gives negative B)Gives positive
C)Gives both positive and negative D)None of the options

GoAreT T TRl T ¥ 3R defdee 3R e Rermt & aryr dar adeor &ar 32
A)FOTTcHSR B) eTaiTcHh
C)ualicAs AR HUllcAs® alar D)fqsreutl & & HS g

Answer Key : A

Question No. 102
Which of the following molecules does NOT exhibit hydrogen bonding?
A)HF B)H,O
C)HCI D)NH3

fArafaf@d # & wla-ar 3], gsgiee e Feflia ¢ #ar 82
A)HF B)H,0
C)HCI D)NH3
Answer Key : C

Question No. 103
The number of chemical bonds between a pair of atoms is generally known as the-
A)Atomic number B)lonic number
C)Bond length D)Bond order
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AR W RAVBT & oA & Tarfas el fr G #F fFa 7 & & sar g2
A)IRATI] J&IT B)3mafees e
C)3TSET ofaTs D)3iTeier 3meer
Answer Key : D
Question No. 104
In the Valence Bond Theory, which of the following does NOT form a sigma bond?
A)Axial overlap of s-s orbitals B)Axial overlap of s-p orbitals
C)End-to-end overlap of p-p orbitals D)Side-by-side (sideways) overlap of two p orbitals

o dies RAgia &, 3 ¥ Fla-ar ReAT dies 767 Forar?

A)s-s 3iTfdeed &1 37efT 3MateT B)s-p 3iifdced & 37efr 3faRea
C)p-p 3feced & Id-H-3id 3aed D)er p 3fifdced HI AES-a-AES (AB3d9) Jateld

Answer Key : D

Question No. 105
The least electronegative element (in the Pauling scale) is-
A)Oxygen B)Francium
C)Nitrogen D)Carbon

T F fagga HOTeA® dcd (difeiar e #) gl
INEIEIEC) B)hfeerer
C)ATseIsta D)ehTeel

Answer Key : B

Question No. 106
According to the kinetic molecular theory of gases, the gas particles (atoms and particles) are-

A)At rest always B)In continuous motion in a predetermined path
C)In continuous, random motion D)Always moving in an elliptical path

At & aifasr smoifas fRgia & eqeR, 0 F Hor (Rary AR Fo) g &l

A)GHT 3IRH W B)yd fAeiRa g ¥ fadaw arfa &

C)fRR, Treieoes afa & D)dc¢d 3USR 9 9T Irraefier

Answer Key : C

Question No. 107
The Van der Waals equation of state approaches the ideal gas law PV = nRT as the values of the constants
'a' and 'b' approach-

A)100 B)200

C)0 (Zero) D)545

S @ R e IR D FAG __ F HI9 Igad §, a9 K arew ufd F1 adewor et da e
PV = nRT & &3« ggae 8l

A)100 B)200

C)0 (=) D)545

Answer Key : C

Question No. 108
Lit2.atm.mol2 is the unit of the Van der Waals constant-
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A)a B)b
C)Bothaand b D)Neither a nor b

Lit2.atm.mol?2 alel 3T ared RWiF T HS Hia-dr §2
A)a B)b
C)a 3R b, =t D dara3diRaT &b

Answer Key : A

Question No. 109
Who among the following is generally credited with proposing the classical form of the theory of the principle
of Corresponding States which states that substances at corresponding states behave alike?
A)Van der Waals B)De Laval
C)Descartes D)Desmond

fArfef@d # & fFd 3 AR W ey Rufadt & Rgid & Foflied §9 F1 Jdd F & 47 371 simar
& S garar & & Sefta Rufaat # 9er gHe yegr Wa &7
A)dle 3T dred B)3 oaedl
C)zaered D)sa#Hs

Answer Key : A

Question No. 110
The definition of the critical temperature of a substance is generally the temperature above which the
, ho matter how much pressure is applied.

A)Liquid of the substance cannot be vapourized B)Solid of the substance cannot be liquefied

C)Liquid of the substance cannot be solidified D)Vapour of the substance cannot be liquefied

R 9gr & wifaw agAE i R 3H ak W g7 auAEe @ § BEd 3w , O¢ frae St
gara o] foRar Sl

A)Terd & aXel 9ere arsdighd el fhdT S Hehell B)uery & 31 & gfad A8 T S Hehal

C)ueTdl & gd l 3 Adl TATAT ST Tehll D)uerd & arsq 1 gdteqd #el AT ST Hehell

Answer Key : D

uestion No. 111

The Kinetic Molecular Theory of Gases states that all gases at __ temperatures have ___ average
kinetic energy.

A)Different, the same B)The same, different

C)The same, the same D)Increasing, decreasing

At & afasr 3vifRs Regia 7 Far =T ¢ & agAe W el St a afas Fat g &1
A=, agr B)ag!, fafdeer
C)agr, agr D)sed, Tedr

Answer Key : C

Question No. 112
Which of the following statements is TRUE about the Van der Waals constant 'b'?
A)The constant 'b' is directly proportional to the size B)It is inversely proportional to the size of the
of the molecules molecules

C)ltis not related to the size of the molecules D)None of the options
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e 3T ared FR& 'b' & IR #H A A FlA-ar HUA TEr 87
A)FERI® 'b' U3 & IR & W IS g B)Tg UMt & TR & GoshATUI il &
C)g@ehT 3IUI31T & 3MhR & hIg T =TgT ¢ D)fawedl & & FIS AGT

Answer Key : A

Question No. 113
The kinetic molecular theory of gases states that the intermolecular attractions or repulsions between atoms
and/or molecules in a gas are-
A)Always infinite B)Negligible
C)Always considerable D)Finite but very high

et & wifasr snorfasw fgia & @t @ & 6 S F waAwREt s IopEt & O s sreder

gfaeor gl
A)yada 3aRfAa B)=taroa
C)yaea faaroiy D)aRfAq fshet sga Far

Answer Key : B

Question No. 114
What is the conductance (Q) of a solution with a specific conductance of 0.5 Q' cm™ and cell constant of

0.75cm™?
A)0.75 B)0.67
C)0.90 D)0.45

0.5 Q' cm & AT TreFa 3R 0.75 cm! & AT BRF & TT v [Aaga F1 aedca (Q7) haer

gem?
A)0.75 B)0.67
C)0.90 D)0.45

Answer Key : B

Question No. 115
Which of the following is known as a 1-1 electrolyte?
A)NaCl B)CaCl;
C)MgSOq4 D)CuSOq4

faf@d # ¥ R 1-1 sAagiase & §9 & SEr Sar 872
A)NaCl B)CaCl,
C)MgSO4 D)CuSO4
Answer Key : A

Question No. 116
The cell constant of a conductivity cell-
A)Changes with the change of concentration of B)Changes with the change of electrolyte
electrolyte

C)Remains constant for a cell D)Changes with the temperature of electrolyte

T ATedhdl el T AT O, |
A)FoFgIese & Higdl # IRade & A1 dgaldl ¢ B)Zolaciase & IRads & a1 J&adT ¢
C)ueh Aol & forw W Ear & D)gaerelelise & AIUHNT & HIY J&oidr &


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

Answer Key : C

Question No. 117
Which of the following solutions does NOT conduct electricity?
A)KCI in water B)MgCls, in water
C)Sugar in water D)NaCl in water

e & & #i9 @1 Roww, Rega # dues T8 F:ar §2
A)STer 3 KCl B)atel & MgCl,
C)ater & el D)ster & NaCl
Answer Key : C

Question No. 118
What is the value of the cell constant when the conductance of an electrolytic solution is equal to its

conductivity?
A)1 B)0
C)100 D)10

el faegd-3raacel feraeT T Alelhcd 3T Alelehel & ST B T AT TEWih T AT fhtalr giar 82
A)1 B)O

C)100 D)10

Answer Key : A

Question No. 119
The resistivity of a metal is equal to its resistance when the cell constant is-

A)0.1 cm™ B)1 cm™

C)100 cm™ D)10 cm!

s B W, R arg A g, 38% gfoiy F e e g
A)0.1 JFT -1 B)1 J=r

C)100 {1 D)10 Jar -

Answer Key : B

Question No. 120
What is the Sl unit of specific resistance?
A)Q! B)Q/m?
C)Q/m D)Qm

fafdrse gfaRier 1 S| gfae @ &2

A)Q! B)Q/m?
C)Q/m D)Q m
Answer Key : D

Question No. 121
Which of the following factors is directly proportional to the conductance of a solution?
A)Charge on ions B)Size of ions
C)Viscosity D)AIl of the options

ffof@a & @ #ia a1 FrF, Rl faees & araec & EgFaAmRqa giar 82
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A)ITIAT T 31T B)3T=AT &l TR
C)ITeAdr D)fasredr & & Tefr

Answer Key : A

Question No. 122
Which of the following is NOT a property of transition metals?
A)Low boiling point B)Lustre
C)Ductility D)Malleability

faeafaf@a & & =l @, FHAvT argai FT wF T AL B2
A)&RH FTYATH B)T#Hh
C)deadr D)3meraaeiei=rar

Answer Key : A

Question No. 123
What type of bond do transition elements form with themselves?
A)Covalent bond B)lonic bond
C)Metallic bond D)Coordinate bond

HHAUT ded, TAI & 91T T YR & ey AffdT aa 82
A)TgadreTd ATEY B)3maifaie 3meer
C)urfcash 3Taer D)39qagaare ey

Answer Key : C

Question No. 124
Which of the following is NOT a very hard metal?
A)Tungsten B)Zinc
C)Molybdenum D)Chromium

Refaf@a & & i @, v 9ga FOR urg A §?
A)eIrEed B)st&dr
C)Aiforesad D)ymifAaH

Answer Key : B

Question No. 125

EDTA stands for ethylene diamine tetraacetate, which is a ligand.
A)Tridentate B)Bidentate
C)Monodentate D)Hexadentate

EDTA & QU a1 Ti¥elier setellsr egrediee gierm &, St us ol 21
Afesee B)sTgSeT

C)AASeT D)geFarsee

Answer Key : D

Question No. 126
What is the coordination number of cobalt in the [Co(en)2Br2]Cl complex ion?
A)6 B)4
C)2 D)8
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[Co(en),Br2]Cl FIFcaldd A H Plalec N 3YTgHAISTT FEAT fFder g &2
A)6 B)4

C)2 D)8

Answer Key : A

Question No. 127
Which of the following is known as Turnbull's blue?
A)Ferrous cyanide B)Ferri ferrocyanide

C)Ferrous ferricyanide D)Ferricyanide

frafaf@a & & 7 ooiqel s & 7 § T ST 82

A TS B) il thRIETg=gs
C)E hRATAEs D)SRATIATSS
Answer Key : C

Question No. 128
Which of the following contains magnesium?

A)Haemocyanin B)Chlorophyll
C)Vitamin B4, D)Carbonic anhydrase
frfaf@a 7 & e A gar 872

A)gararafae B)FelRifther

C)faarfaa B1 D)&sifaed TagEgs

Answer Key : B

Question No. 129
Which of the following metals is used as a thermometric liquid?
A)Copper B)lron
C)Potassium D)Mercury

et # @ & U1 1 39T JIATT Rl & &9 F fRar Siar g7
A)arr B)<ieT
C)aretraa D)arT

Answer Key : D

Question No. 130
What is the bond length of the carbon—carbon single bond?
A)120 pm B)134 pm
C)140 pm D)154 pm

FIAA-FIEeT Udhel Y & Y darg Fde gl &2

A)120 pm B)134 pm
C)140 pm D)154 pm
Answer Key : D

Question No. 131
Resonance is due to-
A)Delocalization of sigma electrons B)Delocalization of pi electrons
C)Migration of H atoms D)Migration of protons
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IegeIG FES HROT giar 872
A)RTAT ST & ATATIT B)UTS Solaclal & faTamded
C)H wRATILHT T Fard=T D)Welat T JardsT

Answer Key : B

Question No. 132
Which concept best explains that o-nitrophenol is more volatile than p-nitrophenol?
A)Resonance B)Hyperconjugation
C)Hydrogen bonding D)Steric hindrance

FleT A1 Agia e I8 R F 1 ¥ & o-Asibaiier, p-ASIeiier Y Jolalr A HfAF AT gher 82
A) 31eTE; B)3faraga A=t
C)gTs3ioled ATetleT D)fae arem

Answer Key : C

Question No. 133
A square planar complex is formed by the hybridisation of which atomic orbitals?
A)s, px, py, dyz B)s, px, py, dx?-y?
C)s, px, py, dz? D)s, py, pz, dxy

TF PR TR Firceiard fhd TA] Hifded & HROT § ST §?

A)s, px, py, dyz B)s, px, py, dx2-y2
C)s, px, py, dz2 D)s, py, pz, dxy
Answer Key : B

Question No. 134
Which of the following statements is TRUE about the resonance hybrid of benzene (CgHg)?
A)The molecule has alternating single and triple B)The molecule has six equivalent carbon-carbon
bonds bonds
C)The molecule has a higher energy than any of its D)None of the options

resonance structures

fArfaf@a & & FiF W FYT T (CeHe) & Wi e=fs & X & wér &2
A)3TT H gearad ®7 & Tehel IR B e g1 §1 B)IHU] H ©F GAJeT Frael-aleed G gl &
C)30] A s&eh el off 3l TG &1 Jofell # D)fdshodl & & HIS g1

HF For gl &

Answer Key : B

Question No. 135
In which of the following cases is the bond length minimum between carbon and nitrogen?
A)CH3NH B)CegHsCH = NOH
C)CH3CONH3 D)CH3CN

o # & fra A 3 ST I AT F AT A oS T @ ¥
A)CH3NH> B)CsH5CH = NOH
C)CH3CONH, D)CH3CN

Answer Key : D
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Question No. 136
Which has the strongest hydrogen bond?

A)Hydrogen phosphate B)Hydrogen sulphate
C)Hydrogen fluoride D)Hydrogen chloride
FEd T Yo gSsleleT Y aidr &7

A)ETSSISTeT HIEhe B)gTS3IsTel Hothe
C)grssiold FelR1Ss D)gTssialed FellR1SS

Answer Key : C

Question No. 137
Which of the following is the principle of resonance structures?
A)Resonance structures are not isomers B)lsomers have different arrangements of both atoms
and electrons
C)Resonance forms differ only in the arrangement of D)AIl of the options
electrons

fAmafaf@a & & @l a1 e aeaemst w1 Beid 82
A) Il FIEATE FATGIET e el 8 B)FHraTal # WA 3R gerEciel aelr @ 3rerer-
HAIT SYTEAT Bl &l
C)3felle, §G shael Feldeldl $ cgaedl # el g D)fdshout & & el
gl

Answer Key : D

uestion No. 138
The monomers of addition polymers have a/an-

A)Double bond B)Triple bond
C)Amino acid D)Carboxyl group
AT Sgerh & Teheloh! A Th e 2l

A)sdel §3 B)feuer a8
C)ufa=r vfas D)arefferere I

Answer Key : A

Question No. 139
The Ziegler-Natta catalyst is used to prepare which of the following?
A)Low-density polyethylene B)High density polyethylene
C)Teflon D)Nylon 6

SHTeR-12T 3AR® 1 39T o & ¥ FFY AR = & e R s &2
A)AFA-gsTca greluidelte B)3Td Helcd Uleluideilel
C)wFalTe D)=TTelisT 6
Answer Key : B

Question No. 140
Which of the following is a copolymer?
A)Polyethylene B)Polystyrene
C)Polyvinyl chloride D)Styrene-butadiene rubber
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@ & ¥ sla-ar TESgD 2
INEICINPEICE B)uTeieeTsoreT
C)utelfaaser FelRIss D)Eers{i-sgersie &

Answer Key : D

Question No. 141
is a polymer which is prepared by ethylene glycol and terephthalic acid.
A)Nylon B)Teflon
C)Terylene D)Bakelite

T Sgeis Bidl & S TRiehe Tegeiel 3R XA 3 g@RT IR fRaT ST &
A)ATIATT B)WFelTeT
C)eRelta D)shellse

Answer Key : C

Question No. 142
Which of the following is also known as Phosphazenes?
A)Phospholipids B)Organothiophosphates
C)Iminophosphoranes D)lsoprenes

AT # ¥ 5 BrEhell & A ¥ Y ST Far 82
A)BiEhifafs B) 3R wiehed
C)sfAAIRIERR=T D)3TsaseT

Answer Key : C

Question No. 143
Which of the following is NOT an addition polymer?
A)Polyolefins B)Polydienes
C)Polyhaloolefins D)Polyesters

Fefaf@d & & Fla-a1 v dee agoT A8 82

A)ufediafthea B)uTelsed
C)dfeligar3iel fthed D)4fferieex

Answer Key : D

Question No. 144
Which of the following is an example of a condensation polymerization reaction?
A)Addition of ethylene to form polyethylene B)Addition of styrene to form polystyrene
C)Condensation of adipic acid and hexamethylene D)Condensation of vinyl chloride to form polyvinyl
diamine to form nylon-6, 6 chloride

Fefaf@a # § Fla-ar, & duae sgeheor AR F 3ETEIT 87

AT g F T Tfdelsr & ST B)uieleerslle a0 & fovw Eesda & sigar
C)ATald-6, 6 sa¥ & fav ufsfe ©hs 31k D)uifadse FaRiss g0 & AU fGasd FoaRss & v
TFATHTYNA SIATST HT HAA HeeTel

Answer Key : C

Question No. 145
Which of the following is a common example of a polyamide?
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A)Polyethylene B)Polypropylene
C)Nylon-6, 6 D)Polyvinyl chloride
faf@a & § #la @1, vifovAss #1 vF G 36T 87
INEICINPEIGE B)dfeirsdielet
C)ATrgard-6, 6 D)dteNfaese FARISS

Answer Key : C

Question No. 146
The acid-catalysed rearrangement of diols gives aldehydes or ketones in a reaction called the-

A)Perkin reaction B)Cannizzaro's reaction

C)Pinacol rearrangement D)Claisen rearrangement

SRICH T IFA-3cART Jofdeary, T ffnar F wfeserss ar fede &ar ¢ oW FET STl ¢
A)ufder 3rfafeRar B)ahfaaiRY & 3ifafear

C)fOeirenlel qercdaedr D)eFeldel qeicdaed

Answer Key : C

Question No. 147
Two molecules of acetone condense together in the presence of barium hydroxide to form-

A)Crotonaldehyde B)Aldol

C)Diacetone alcohol D)Methylpentanal

e & ar 39, IRIH Frsgirass A 3Rl F WEw ¥ufad g T
A)HIeIATCSETSS B)TUcsIdl

C)3I3THIcIA 3eahigial D)fRUTSeTAo

Answer Key : C

uestion No. 148

Aldehydes containing undergo self-addition in the presence of a base to form products called
aldols.

A)a-nitrogens B)a-olefins

C)a-hydrogens D)a-pinene

I UfeSEISS Uesied A 3c91G a9 & v &R i 3ufeufy #F w-ois & er
A)a-FATS ISt B) -3t
C)a-gT3arstet D)o-uTgeile

Answer Key : C

Question No. 149

When benzaldehyde is heated with acetic anhydride in the presence of sodium acetate, is formed.
A)Aldol B)Pinacol
C)Benzilic acid D)Cinnamic acid

9 delifesgss & QTR wdiee 1 3ufeufa & vlaRR* vagEses F ay 9 R sar &, ar
eI gl

A)UcaTe B) fa=iTehrer

C)dfafos ufas D)= ufds
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Answer Key : D

uestion No. 150

The is a three-component acid-catalysed reaction of aldehydes or ketones with 1° or 2° amines
to produce B-amino-carbonyl compounds.

A)Mannich reaction B)Friedel-Crafts reaction

C)Reimer-Tiemann reaction D)Aldol condensation

, p-3ie-wEffaer At #1 3caeT WA F AT 1° AU 2° wARw F Ay viesgss A FiT i

deT-ges 3Fa-39Ra fRRar §
Ayafa fafsar B)hsdl-srred 3fAfhar
C)IR-ErA=T HfAfhar D)Ueslel HEelel

Answer Key : A
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